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SOCIOLOGY
PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Who is said to be the major architect of phenomenology ?
(1) P.L. Berger (2) Alfred Schutz
(3) Anthony Giddens (4) Max Weber

2. According to Schutz, Weber does not ask which of the following ?
(1) How an actor’s meaning is constituted

(2) Does not try to identify the unique and fundamental relations existing between self
and other

(3) Both (1) and (2)
(4) None of the above

3.  Who provides, in his theory, an account of the role of common - sense knowledge in the
social construction of every day life and institutions ?
(1) Peter Berger (2) Alfred Schutz
(3) Henri Bergson (4) Erving Goffman

4. Harold Garfinkel considers which of the following to be the fundamental sociological

phenomenon ?

(1)  Social facts as made of institutions
(2) Treating the objectivity of social facts as accomplishment of members
(8) Treating the objectivity of social actions
(4)

4) Social actions as made of values and accomplished by members

5.  One of the key points about ethno methods, according to Garfinkel, is :
(1) that they are reflexively accountable
2

that ethnomethodologists provide description

4 none of the above

(2)
(3) that for objective and subjective reality they are accountable
(4)

a7 ] | :
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fder: =0 UH-IF § ueeR (75) dg-fashed ™ U9 ¥ 1 USE U & 9 (2) 3k B 1 |t g StfHard
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6. Match List - I with List - IT :
List -1 List - II
(Works) (Authors)

a) Presentation of Self in Every day Life i)  Peter Berger

S

The Social Construction of Reality ii) Harold Garfinkel

d) Studies in Ethnomethodology iv) Alfred Schutz

(
(
c¢) The Phenomenology of the Social World (iii) Erving Goffman
(
(v) George Lukacs

Code :

7. Which of the following concepts is not related to Althusser’s theory ?
(1) Altruism (2) Epistemological Break

(3) Repressive State Apparatuses (4) Ideology

8.  Which of the following is not the problem associated with structural - functionalism according
to Alexander ?

(1) Anti-individualism (2) Conservatism

(3) Integration (4) Idealism

9.  According to whom, in an ‘ideal speech situation” all parties have equal opportunities to
engage in dialogue, without undue domination ?

(1) J. Derrida L. Althusser (3) M. Foucault (4) J. Habermas

rans [ ||||\|HH|H||||H|\|||H|| ;




et - 1 et - 11
(‘Hferat ) (P )
(a) USIIA A U 37 T € ARH (@) R R
(b) T WA HERE 31k Rafere (i) oUee TRiHHA
() T frammrerst i g | ace (iii)  sfefr A
(d) WSS T THIHYSIArST (iv) Ihe Yl
(v) ISt SR
He :
@@ (b) (o) (d)
1 @ @ @) (v)
(2) G () (@) (V)
() @) @) (@v) (i)
4) (@v) @ @) (v)

7. T A I G ouRT STeysR % fagia ¥ Geifud & § 2
(1) wfeqerg (sieges™) (2) TEEHER AT (YIEHISTohel k)
(3) THIRNI T (4) foemem

8. STl % ATER 1 H | FIF ot HieHHs YhriaR ¥ Hafed e T8 < 2
(1) wfa-safaare (2) wfear
(3) TR (4) oTEETS

9. T4 9 forg & sTIER ‘ 31reyl shed aRftafa’ & fomm forelt stgfara gy o qeft vall o1 Harg & =1
THM TR YT el § 2

(1) 3. (2) TA. YK (3) TA.GHI 4) . TIE™

s (1T ;



10. Match List - I with List - IT and select the correct answer from the code given below the
lists :
List - I List - II
(Concepts) (Authors)
(a) Over determination (i) Alexander
(b)  Structuration (i) Giddens
() Neofunctionalism (iii) Habermas
(d) Undistorted communication (iv) Althusser
Code :
@ () (9 (d)
O 6 @ G W)
@ (v @ @ )
@) G O @ @
@) @ G @) @
11. Among the following who do not belong to Frankfurt School ?
(a) J. Alexander (b) L. Althusser
(c) J. Habermas (d) A. Giddens
(e) H. Marcuse
Select the correct answer from the code given below :
1) (), (b) 2) (@), (b) (e) ®) © () 4 () (d)
12.  Which of the following is not the work of Michel Foucault ?
(1) Discipline and Punish (2) Reading Capital
(3) The Order of Things (4) Madness and Civilization
13. In his theory of structuration, Giddens focuses on :
(1)  Structural Dualism (2)  Duality of structure
(3) Dichotomous Relationship (4) Binary Oppositions
14. Identify the incorrect statement from the following :
(1) The term “Deconstruction’ is particularly associated with the work of Jacques Derrida
(2) “Deconstruction’ is a post structuralist intellectual movement mainly influential in France
and the US since the late 1960s
(38) “Deconstruction” supports the binary conceptual systems in which one concept is
privileged in the hierarchical setting
(4) Derrida offers a critique of both Positivism and Phenomenology
S T T —
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<
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1 @ @) @) Q)
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11. F= 8 9 ®F ¥ $hhwe Tha 9 Fefd Té § 2
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(1) fefgwf de ufw (2) fen Hfrea
(3) T AT 31t fofrg (4) Werw ug fafaemsem

13. EeaER o fagia # frgw 7 & 9 fofg W s & €2
(1) S §aare (2) ETEAEd
(3) gt day (4) Tg=R ufqam

14. 7= & 9 &1 91 FuF @ § 2
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2) ‘fodwE’ TH ST GEAER! difgew Tiae & S qEdd: il S SERER § 1960 & ¥ 9
FEICIREES
(3) ‘fodte’ fgm sEuRvTHs yonferl 1 wweq o & e drorfies afas # e staemon
I YT Bt T
(4) <N JAgaR SR TereATfoR™ SHI sl Y& He=H1 id © |

s (1T 7




15.

16.

17.

18.

19.

‘In Foucault’s view, historical documents are one way in which a society recognizes and
develops a mass of documentation with which it is closely related’. This is known as :

(1) Discourse Analysis (2) Industrial Archaeology
(3)  Archaeology of knowledge (4) Prehistory

Match List - I with List - IT and select the correct answer from the code given below the
lists :

List - I List - II
(Concepts) (Authors)
(a) Knowledge and Power (i) J. Alexander
(b)  Signifiers and Signified (i) M. Foucault
() Rules and Resources (iii) J. Derrida
(d) Action and Order (iv) A. Giddens
Code
@@ (b) () (d)
0 @ @ @ 0
@ O @ @) @)
@) (v @) @ 0
@) @ O @ @)

How many communities in India were identified by the project ‘People of India” conducted
by Anthropological Survey of India ?

(1) 3000 - 4000  (2) 4000-5000  (3) 5000-6000  (4) 6000 - 7000

Three Language Formula in India was recommended by which of the following ?
(1) Language Commission

(2) National Integration Commission

(3) The State Reorganization Commission
(4)

Knowledge Commission

Number of Languages listed in the VIII Schedule of Indian Constitution at present is :
18 3 22 “4) 19

(1) 20 (2)
st (1T ;
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( 3T ) (wfurger )
(a) I SR () . STt
(b) Hhash AR Hehfad (i) TH el
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(d) foram 3R e (iv) T figw
<< :

@ (b) (9 (d)
1) @) @) Gv) @)
2) () (@) (i) (i)
3) @v) (@) @) ()
4) @) @ @) (i)

IR o ot Telafo gR ST diget o1tk sfean’ afarsn g 9rd # forde SRl i deaH
B T?
(1) 3000 - 4000  (2) 4000 -5000  (3) 5000 - 6000  (4) 6000 - 7000

Ra H Frumit-w =t gegfa fr= # 9 forem &0t o 2
(1) TS ST

(2) TS THAT S

(3) TS TS ™M

(4) M SR

IR & WM i Teal AT | YeAlog Hed &l aHE § G §
1) 20 2) 18 3) 22 @) 19

s (1T :



20. Match List - I with List - I :
List - I List - II
(Type of Movement) (Name of Movement)
(a) Ethnic (i) Naga Movement
(b) Reformist (i) Jharkhand Movement
(c) Secessionist (iii) Birsa Munda Movement
(d) Subnational (iv) Bhagat Movement
Select the correct answer from the code given below :
@ b © @
O @ @ 6w
@ O Gv @) G
@) O G @ W)
@) @ @) 0O @
21. Which of following statements are correct ?
(a) Tribal economy often has a market system
(b)  Reciprocity and redistribution create the integrative patterns prevalent in tribal economy
(c)  Tribal production is contractual and voluntary
(d) A distinguishing feature of primitive life is fusion of social and economic institutions
Select the correct answer from the code given below :
(1) @and(@ (2 (and(d) () (), B)and(d) () (a) (b)and (O)
22. Surajit Sinha’s work was mainly based on :
(a) Tribe - Caste Continuum (b) Tribal Movements
(c) Field Studies (d) Sociology of Religion
Select the answer using the code given below :
1) @) b) @ 0, @ () @@ @ (@4 Al theabove
s [T 1
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( TSI T Yehll ) ( 3T 1 < )
(a) TSI (i) T ST
(b) T ({) ERES A
(c) STeTTeree (iti) TorEm HeT A
(d) SR (iv) Wd S
1= foU 7TT e H Q W I /I FIT HY

@ (b) (9 (d)
1) @) @@ @ o @0v)
2 @ (@Gv) (@) (i)
G) @ @) @) @Gv)
(4) @) (@Gv) @) (i)

21. FRAS IR FATAE?
(a) S STeferaEen | J: oK oF g1 |
(b) IREAER 3R AR S sTeferaeen § gafeld THeheIes iad gier i € |

() S Scared GfoRrreh 3R e B 1

(d) S iR eTifefe Heensti o1 HareH enfen Siad Usfd &I U qe fov T |

e feu T e | ¥ W@ IR A ¢

(1) () ¥R (d) (2) (b) 3 (d) 3) @) B3I @) (a) b) IR ()

22. YIeid famer 1 & ged: f= o 9 forg o smenfia €2

(a) SHSTfd-STfd Hidedeh (b) SIS SISl

(c) & T (d) g W FHSEE

= feu T e § w@ SW gh:

1) (a), (b) 2 (®), (), (d) 3 (@) () (d) (4) ST T

LI 1

a7



23.

24.

25.

26.

27.

28.

The perspective which understands the society through conditions of subordination of people
belonging to different castes is called :

(1) Indological Perspective (2) Civilizational Perspective
(3) Subaltern Perspective (4) Conflict Perspective

To L. Dumont which one of the following helps to maintain the structural distance between
castes ?

(1) Land Ownership (2) Economic Status
(3)  Purity and Pollution (4) Political Power

Who did attributional and interactional analysis of caste system ?
(1) L. Dumont (2) Surajit Sinha
(3) M.N. Srinivas (4) D.P. Mukerji

Who of the following believed that there should be cultural autonomy of tribes ?
(1) N.K. Bose (2) D.P. Mukerji
(38) Surajit Sinha (4) G.S. Ghurye

Who is the Author of the book “Garibi Hatao : Strategy Options” ?
(1) Indira Gandhi (2) M.L. Dantwala

(3) Thomas Gladwin (4) S. Bagachi

Match List - I with List - IT :

List - I List - II
(Authors) (Issues)
(a) M.N. Srinivas (i)  The Evolution of Societies
(b) T. Parsons (i) Nation Building in Independent India
(c) Rajani Kothari (iii) Nation Building and Citizenship
(d) Reinhard Bendix (iv) State and Nation Building

Select the correct answer from the code given below :

@@ (b) () (d)
1 Gv) @ @) ()
2 @ @ (@v) (i)
G O G @) (@)
4) (@) G@v) @ @

st (1T 2



23. o€ U S fafys Sfadi o @ i etefiar i S9ned % HieE W Sl Sl 99l €, e § |
(1) YR faen 3armH (2) HHHANTT SUTTH
(3) Swifar 3urH (4) EEHETE! IUFTH
24. U TG & OR 1 § | o il & o SeeTs g 9 WE H e § 2
1) ofF =fhE (2) sfedes gfeefa
(3) S R UG (4) TSI H
25. /= § 9 foraa Sfd wen o1 URIIIeRes @R sT=ir=fsharces fagereon fohan ?
(1) T (2) gEsia fe
(3) TA.TA. 4ifta™ (4) LU ksl
26. T4 # ¥ fohgent I8 AFAAT o1 Toh SSTqAl ol WiEhide TEEadl g amag 2
(1) TA® &9 (2) L. ekl
(3) e fee 4) St
27. T TSl : WSt SWMY " T h olE® § ¢
(1)  sfew et (2) TA.TA. ST
(3) fAE Terefod (4) T FETE
28. eIt - [0l geit - 19 gafad s |
et - 1 et - 11
(T ) (q=2)
(a) TA.TA. 4iftam™ (i)  HHTSI w1 IgfAhd
(b) & gE= (i) EEIdS YR H g fefo
(c) TSI HIBRT (iii) g FmTor AR AR
(d) TETRE sferm (iv) T3 3R g fmior
= QU 7T Fe & 9 F& IW H =TI FY -
@@ (b) (o) (d)
1) Gv) @ @) ()
2 G @ @v) (i)
G @ @) @) ()
(4) (D) (@v) @) @)
s [T 1




29.

30.

31.

32.

33.

34.

35.

Given below are two statements, one is labelled as Assertion (A) and other Reason (R) :
Assertion (A) : Regional, Ethnic and religious disharmonies act as barrier to Nation building.
Reason (R) : Political Elites are interested in creating disharmony to create vote bank.
Select the correct answer from the code given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(3) (A) is true, but (R) is false

(4) (A) is false, but (R) is true

Which Indian state has the largest number of slum dwellers as per census 2011 ?
(1) Tamil nadu (2) West Bengal (3) Maharashtra (4) Bihar

Which state in India contributes highest percentage of growth of population in relation to its
share in the total population ?

(1) Uttar Pradesh (2) Bihar (3) Madhya Pradesh (4) Rajasthan

Who talked about positive and preventive checks of population ?
(1) K. Davis (2) David Glass
(3) Robert Malthus (4) Frank Notestein

How many metropolises are there in India as per census 2011 ?
(1) 35 (2) 43 (3) 53 4) 51

Durkheim believed suicides as :
(1) Normal (2) Abnormal (3) Legal (4) Illegal

Given below are two statements, one is labelled as Assertion (A) and other as Reason (R) :

Assertion (A) : As per census estimate about one fourth of males and one fifth of females
remain unmarried in India.

Reason (R) : There is low sex ratio in India.

Select the correct answer from the code given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3)  (A) is true, but (R) is false

(4) (A) is false, but (R) is true

st (1T 1
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35.
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2011 St SFITUAT % 3TIHR 9Rd § fhad HeR § 2

1) 35 2) 43 3) 53 4) 51
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(1) (A) T (R) S &I € a1 (R), (A) Tl T AT B |

(2) (A) UM (R) IHI TEF €, TG (R), (A) T FE =08 T T

3) (A) ¥ €, T (R) 7o § |
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36.

37.

38.

39.

40.

According to National Crime Record Bureau (NCRB), which Indian State has the highest
rate of drug related suicides ?

(1) Punjab (2) Andhra Pradesh
(3) Kerala (4) Maharashtra

Two statements are given, one is labelled as Assertion (A) and other as Reason (R) :
Assertion (A) : Overwhelming majority of criminals are males in Indian Prisons.

Reason (R) : Usually, women are victims of crime and are not involved in committing
the crime.

Select the correct answer from the code given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3)  (A) is true, but (R) is false

(4) (A) is false, but (R) is true

Which religious group has the highest percentage of drug users in India as recent NSSO
survey ?

(1) Sikhs (2) Christians (3) Hindus (4) Bhuddists

Given below are two statements, one is labelled as Assertion (A) and other as Reason (R) :
Assertion (A) : Drug addiction is more prevalent among low income groups.
Reason (R) : They are more stressed and have many socio - economic problems in life.

Select the correct answer from the code given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3)  (A) is true, but (R) is false

(4) (A) is false, but (R) is true

Who has written the book “Nation Building and Citizenship” ?
(1) Reinhard Bendix (2) Wendell Bell
(3) W.J. Foltz (4) C.J. Freiderich
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36. IS eH e o0 (WHLARE.) & kel & AR HiGsh 2l 9 HHifyd ATHgS
Tt T WRA & e =g § a1 T ¥ 2

(1) d9= (2) 39 U< (3) wA (4) HIRIE

37. 4 < %A fau e €, T Fr AR (A) 3R T FI deh (R) FE T L

AR (A) :  IRAT Seil § I 1 9Igd oIeT e &y € |

T (R) : GrETrd: Afeerd STy i R Bt § 3R o ST e § wfhe el ol © |

= fou 7T e H | T ST A =TT B

(1) (A) T (R) S &I € a1 (R), (A) Tl T A& R |

(2) (A) 3 (R) SHI T&T €, TG (R), (A) T T =08 T S
(3) (A) W& T, T (R) Terd 2
(4)

4) (A) e ¥, R (R) TE T

38. UHCH TA.TH.UE.37. AU & IR 9IRd H HEh Ugredl 1 YA 3 drell i qod Afeeh
wferar forg enfifer TE & §2

(1) fa@ (2) sEE 3 Tg (4) €I

39. = FHA UMW €, T HI AR (A) 3R TH &l ek (R) el TS|
AfaeRem (A) . AIesE Teref o1 e T o wuEl | s yefera g
e (R) : 3 31fereh TAIEIE B § iR S Sitae § grmifren offe wue st aidt € |
= QT 7T Fe & 9 & IW H =TI FY
(1) (A) T (R) SF1 T € 91 (R), (A) T T AR T |
2) (A) T (R) THI TEF €, TG (R), (A) T FE =080 T T
3) (A) ¥ €, T (R) 7o §
(4) (A) 7MW T, T (R) T g

2

40. ‘v fafeen ve fafesmfm’’ gwaew frem foret §2
1) RreE dfes (2) dA 9
(3) TSl B (4) #HS. Fefw
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41. Who has applied Robert Redfield’s concept of ‘Little and great Traditions” in understanding
the Indian Society ?

(1) Milten Singer  (2) M.N. Srinivas  (3) S.C. Dube (4) Yogesh Atal

42. According to Yogendra Singh sub cultural westernization is :
(I) An eclectic and fragmentary process of acculturation
(2) An eclectic and fragmentary process of cultural assimilation

(3)  An eclectic and fragmentary process of cultural lag

(4) An eclectic and fragmentary process of cultural complex

43. Who has said that “Secularism is a sub process of modernization of Indian Society” ?
(1) A.R. Desai (2) Yogendra Singh

(3) T.K. Oommen (4) M.N. Srinivas

44. Who among the following, while dealing with globalisation, gives importance to “Network

Society” ?
(1) Mannual Castells (2) Zygmunt Bauman
(38) Jurgen Habermas (4) Ulrich Beck

45. “The central features of post - modernity is the way work and production have given way to
consumption, both as the linchpin of social cohesion and as the source of individual identity”
Who among the following supports this idea in dealing with the globalization ?

(1) Anthony Giddens (2) Jurgen Habermas
(3) Zygmunt Bauman (4) Manuel Castells

46. Who among the following is the author of the book entitled “The Rise of the Network Society” ?
(1) Cohen, I (2) Cheal, D
(3) Collins, P. Hills (4) Castells, Manuel

47. Which one of the following schemes is not included under the Universalisation of Elementary
Education Scheme(UEE) ?

(1) S.P.QEM. (The Schemes for Providing Quality Education in Madarassas)

(2) EGS/AIE (Education Guarantee Scheme/ Alternative and Innovative Education)
(8) KGBV (Kasturba Gandhi Balika Vidyalaya)

(4) SSA (Sarva Shiksha Abhiyan)
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41.

42.

43.

44.

45.

46.

47.

= # 9 forde YA TS o ST § o (Sfthee i 'Y U9 Jod TWeaUsil & STaeron’ &
ST TR &2
(1) foeea fam (2) T fiffem  (3) TEH. (4) I Ed

Arirg g & STER 3U-Tithias aferieo

(1) TREHAULT F Th Hheish 3R TS Fiha T |

(2) HiGHaeh SACHACHI Hi Teh Gehotdh 3R TeTHF Hiha T |
(3) Wi Y=l i Teh Hohatdh 3R Wl Ufshal |

(4) WiTHiae TEET 1 TH Ghalsh 3R GeTHe Ufha ¥ |

4

forem et © o yf et YRAE TES & STkl i T 3U-UfRan &' 2
(1) TR <R (2) 9= fag 3) <% FEA (4) TAT. difEs

vt W fo=R 3 gu 9 § 9§ foraq ' eask demeel’ &l med foan §2
1) HgITA e 2) fee dq
(3) T geRH™E (4) = 9w

“f9 TR HE SR Scared 3 WIS Hafad it i 3R SAfews TeeE w1 #id S o ¥ |
ST I T TS §, I8 STR-3MYTehal ol e a@ ¢, 7 § 9 i Svaiehto W foar &t ge
79 TR 1 g9eld e ©2

(1) e firga (2) T TaE™ (3) foHe Sim (4) FgA ™

e § 9 fore ‘T TS 3T € e WIemel’ et qeash faet § 2
(1) IeA, 3T, (2) e, €& (3) wifaw, o feem  (4) wRe™, §geTA

R foen 1 e A (e St Tferdedl Ty @hid) (J58) & sidvd
=1 § § oo =t et snfiet e ot T 2

(1) TERFITE (IS H ToEael e 9SH i St A1)
2) ESTH./TSTEE. (Toren TR AsHy/dehfcasn SR et foe)
(3) RS (rEqeen i st foremer)

(4)

TH.TYE.U (99 foen 1fiam)
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48. Who views that “the enactment of the secular ideals in the constitution does not imply an
actual conformity to its norms in public life and relationships between major Indian
Communities ?

(1) S.C. Dube (2) M.N. Srinivas  (3) Yogendra Singh (4) Ajit K. Danda

49. Match List - I with List - 11 :

List - I List - II

(Authors) (Books)
(a) Appadurai, Arjun (i) Stolen Harvest
(b) Frank, A.G. (i) Re Orient : Global Economy
(c) Myrdal, G. (i) Modernity at Large
(d) Shiva, Vandana (iv) Asian Drama
Select the correct answer from the code given below :

@ (® (9 (9
1 O @@ @) (@)
() (v) @) @ @
G @ @ @) (@)
4 @) @@ @) @

50. ‘In Post Green Revolution farmers used the mechanism of debt and attachment to discipline
labour and to decompose/recompose the labour market, which led to deploretarianization
of labour” : Whose statement is this ?

(1) Paul Brass (2) Tom Brass (3) Andre Beteille (4) A.R. Desai
51. Name the Movement which has communal and Economic roots ?
(1) Naxalite Movement (2) Tebhaga Movement

(3) Telangana Movement (4) Moplah Movement

52. ‘The Punjab Peasant in prosperity and Debt : Wisdom and waste in Punjab village” was

authored by :
(1) Baden - Powell (2) F.G. Bailey
(3) Malcolm L. Darling (4) I Natrajan
o[|[RI 2




48. T H 9§ frus TagaR ‘' aRdia wfaam # afrae foem @ ag fafeaed =€ € f aesife stem
3R U@ YRAE USRI & o9 ol | $Hh GiauHi & Ui arfaeh sTeddl g ?

(1) Twad. g 2) T fifem  (3) drifEe (4) oifSa &, ==

49. I - 1 et - 1§ gafed S

et -1 et - 11
(@ ) (=)
(a) STHGUE, TS () EeH TER
(b) T, TS (i) TReRue : ere g
) fua, st (iii) Al T @St
(d) forem, g (iv) e g
= ST 7T %2 # 9 W& W 1 =TI R
@@ () (9 (d
1 @ @) () ()
2 (@(v) @) @ @
3) (@) (@) () (iv)
4) (@) @@ @) @

50. ‘‘IT-gRa shifd s § forami A gftehl 1 STIRMTEd 1 o foT SR gfHer aTeiR < foars /s
o oTe K01 IR SATESH o dF 1 gAn fohan foed gfienl o1 fageeres gen '’ a8 fordet wed
7

(1) i o (2) <meE 3) 3ix dfea (4) TSR <HE

51. 9 iCIe o 8 AT TG SIS et iR e € 2
(1) ToHeaE] e (2) THFT SR
(3) AT S (4) TN SR

52. ‘T Uee disic 39 TR U ¥ fosien U aw T uNe oo’ e &% o ©
(1) weSA-drea (2) TR S
(3) Hohim Ta. eifef (4) STE. TUSH
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53. The struggle for reduction of landlord’s share of the produce from half to one third is related

to:
(1) Telangana Movement (2) Tebhaga Movement
(3) Kisan Sabha Movement (4) Moplah Rebellion Movement

54. Who among the following introduced the term “Post Industrial Society” ?
(1) J. Burnham (2) J.K. Galbraith
(3) Daniel Bell (4) R. Dahrendorf

55. There are two statements, one is labelled as Assertion (A) and other as Reason (R) :

Assertion (A) : In an industrial society, the rate of suicide is significantly higher than in
peasant society.

Reason (R) : Autonomy of individual increases with the increasing division of labour.
Select the correct answer from the code given below :

(1) Both (A) and (R) are true and (R) is correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3)  (A) is true, but (R) is false

(4) (A) is false, but (R) is true

56. The rural urban migration that has led to rapid urbanisation and industrialisation in India is
mainly a consequence of :

(1) Push factor due to poverty (2) Pull factor due to affluence in urban areas

(3) Both push and pull factors (4) Push factor due to affluence in rural areas

57. When migration to urban areas exceed the rate of industrialisation in the city, it is a state

of ?
(1) Urbanism (2) Over - Urbanistion
(3) Cultural - Lag (4) Industrialism

58. In his famous book entitled “The Theory of Leisure Class” Thorstein Veblen has classified
Leisure classes into :
(1) The slaves and the free man
(2) The bourgeois and the proletariat
(8) The savages, the barbarians and the civilized
(4)

4)  The right and the poor folk

waost [ RIFITA
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53.

54.

55.

56.

57.

58.

U H T o e i o i 9 U faw ur 9 w1 we e | § fhw § Haifya 72
(1) ST SAide (2) U AR

(3) ToREM |1 AT (4) HIe fogie e

= # @ fopm 7 ¢ e Sefigaa ImmEl’’ ug &1 yedA ke ?
(1) <. a=H (2) .. TS
(3) <SfEa s (4) SR TBESh

T & e feu e § wh o SifueRe (A) IR TE I 9ok (R) el T T

AR (A) : T SN THNS | AT i X FUF TS i Jo1 H it 3k Bt T
e (R) : g9 faueH o Iemd & Y SAfH it T sedl § |

2 <2 e 9 W& ST A1 =T HifS |

(1) (A) T (R) SF1 T € T (R), (A) T T ARAT T |

(2) (A) T (R) IHT T&I &, TG (R), (A) T &l =& 721 2

3) (A) ¥ €, T (R) TTed |

(4) (A) 7@ €, T (R) T &

Y T Yo {59 R0 IRA § g TR IR AT g &7 ¥ 9 I8 fohden
R § 2

(1) Taelar & &R faswfia a o wReE

(2) TR & | 9gfg o HRO AR HL AT HRE

(3) Tomrftier & iR eTaRftia & amel ST wReE

(4) T &l o g ¥ fomRitia sl wRe

& T &5 H Yo TR H SAENfieRor i et 9 1fen 2 S §, o 9% feafa ®
(1) TR (2)  SAfd-TreRTo
(3) HiThfreh wewr ( fereresr) 4) wENER

I e 7 ST IS Tk ' T RIS fioR Fer’ H STaehtet ot o1 SiieReol foRe
(1) STl S gord wgA §

(2) gSteT IR Helew H

(3)  SiTett, IR TR T H

(4) W IR fAe s H
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59. Who said, that Three basic principles of authentic development are : Justice, Sustaniability
and Inclusiveness ?
(1) Dudley Seers (2) David Korten
(3) A. Gunder Frank (4) Amratya Sen
60. Which one of the following theories argues that “Poverty is a direct consequence of evolution
of the international political Economy into a fairly rigid division of labour which favoured
rich and marginalised the Poor” ?
(I) World System Theory (2) Liberalism
(3) Neo - liberalism (4) Post Modernism
61. Which of the following are view’s of Gandhian Development ?
(a) Self development over material prosperity
(b) Development of free markets
(c) Centralised planning
(d) Development of villages and cottage industries
Select the correct answer using code given below :
1) @and(@ (2 (Gand@© () @Dand(© @) () and(d)
62. Match List - I with List - IT and select the correct answer from the code given below the
lists :
List - I List - II
(Concepts) (Authors)
(a)  Self Development (i) G. Watson
(b) World System Theory (i) Mahbub Ul Haq
(c) Liberal (i) I Wallerstein
(d) Human Development (iv) M.K. Gandhi
Code
@ ) © @
1) G @@ 0 @
@ O @ v ()
@) @ O G @)
@) G @) @ 0
s [T 2



59.

60.

61.

62.

(4) (i)
oo [l

Ig T et Tk gmfores faepmd & i sTEmea fag § : =, aRofear iR SHmeeE ?
1) g Hod 2) sfog =wen B) T T H® (4) omd ¥

frfataa ° 9 foea fagra 7 9 7 o 4, ' e, g9 & 99« Fer favsH e o+t =61 1
fern qen f7el9 =l BT W ohal o AU UsHifaes e & faem &1 T T aiom
%n?

(1) fova sHaen f9g< (2)
(3) TE-3ISRA] (4)

EEUGIH

ERISEICIRETICIH

frefafed § 9 sA-w1 MeterR foawm w1 gfeswm 272
(a) ifqes wgfg =t gam § @

(b) T SRl 1 fahre

(c) iipa e

(d) T TR FER ST T faw

1< ST 7T Fe 1 FAN H F& W AT :

(1) (a) 3R (d) 2 (b) ¥R () (3)

Tl - 1 01 Gt - 11 9 gafad s $ R giedl o 7= KU $e 9 98 S| &1 =997 S

et - 1 et - 11

( 3T ) (ufearee )
(a) & foepmm () S =meEd
(b) Tores e fagr (i) VIS 3A Th
(c) W (iii) TS, AHIA
(d) w9 faskE (iv) TH.oh. TR
<

@@ (b) (9 (d)
1) Gv) @) @ ()
2 @O @ @v) (i)
®) @) @ @) (i)

1v

iv) (i) ()
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63.

64.

65.

66.

67.

68.

Given below are two statements, one is labelled as Assertion (A) and other is as Reason (R) :
Assertion (A) : Core always develops by exploiting its periphery and semi periphery.
Reason (R) : Terms of trade are determined by the core.

Select the correct answer from the code given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false

(4)

(A) is false, but (R) is true

The best method of estimating birth and death rates and rates of natural increase from the
census data was provided by whom ?

(1) K.C. Zachariah (2) C. Chandrasekharan
(3) J.R. Rele (4) K Davis

The methodology of dual reporting system in India is associated with :
(1) Vital registration system (2) National sample survey

(3) Sample registration system (4) Population census

The total number of moves made during a given migration interval which have a common
area of origin and common area of destination is known as :

(1) Gross migration (2) Net migration

(3)  Out migration (4) Migration streams

Which is an example of indirect anti - natalist policies ?
(1) Raising age at marriage (2) Provision of incentives

(3) Liberalisation of Abortions (4) Provision of contraceptives

Medical Termination of Pregnancy Act in India was passed in the year :

(1) 1982 2) 1972 (3) 1985 4) 1975

)
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63.

64.

65.

66.

67.

68.

= 1 e feu U ¥, ek iR (A) © iR gHw Ak (R) B

ANTRT (A) : IS 1 fooh@ Tea g@ah! Ifify iR stefufify & Siwor & g1 & 1
T (R) : TR 1 I IS g F#iRa Bt € |

I T Fe @ @& W AU

(1) (A) T (R) ST T € T (R), (A) T T ARAT T |

(2) (A) T (R) IHI & §, W (R), (A) T T =& T |

3) (A) W& &, T (R) T B |

(4) (A) o €, TG (R) T 2

2

STRIUMET STiehel ¥ S 3R G U a1 T g ohi S ol STIHM T i Farad J5id ek
SR SSH i T8 off ?

(1) .. e 2) . TEEE
(3) SR A @) ¥ 2w

IR el Faifd yomedt & ugfafaam &1 deu g
(1) TRl YSieRol Jumelt 9§ (2) U yfaeet wee @
(3)  Tficst dSeRtor gomet & (4)  SFETOAT 9

Teh Yo Yo et Tores 3T o1 g9 &5 § SR e o1 9HH & § % S fard gfteds
el TEAT hl ST SIS

(1) Hhed gaEd () IS JoIEd

(3) oI Yo (4) TIEA U

YA STaTel- el il T STV HA-HT T ?
(1) foeme i o1y =l g (2) U 1 rEe
(3)  TIHUIA TRl IIR M (4) TfFRIYRT T S

ard o fafercdia mfurg sifufraw foeg ad o foam mar en?
(1) 1982 (2) 1972 (3) 1985 (4) 1975
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69. The World Population Plan of Action was drafted and accepted by Member States of U.N.
at :
(1) Mexico Conference (2) Bucharest Conference
(3) Cairo Conference (4) Copenhagen Summit
70. Which feminist theory argues that patriarchy is the major and universal cause of women’s
oppression and that the power invested in men is the root problem ?
(1) Cultural feminism (2) Liberal feminism
(3) Radical feminism (4) Socialist feminism
71. Who among the following has focussed primarily on education as an important resource for
Socialization of the girl - child ?
(1) F. Agnes (2) Poline Kolenda
(3) I Agnihotri (4) Karuna Chanana
72. Match List - I with List - IT and select the correct answer from the code given below the
lists :
List - I List - II
(Authors) (Issues)
(a) Sharmila Rege (i) Widowhood
(b) Urvashi Butalia (i) Dalit Women
(c) Martha A. Chen (i) Gender and Land Rights
(d) Bina Agarwal (iv) Women and Conflict
Code :
@ (® (9 (9
1 @ @Gv) @ ()
2 @O @ @) (@iv)
(3 (v @) @ @
4 @ (@v) @) (@
73. Which one of the following is not the work of Leela Dube ?
(1) Reflections on the Women’s Movement in India
(2) Women and Kinship
(3)  Anthropological Explorations in Gender
(4) Matriliny and Islam
s [T 2




69.

70.

71.

72.

73.

T T o WS T N e e i AS1 ol Uey el TaR iR iR foan i o ?
(1) e T (2) TENE A
(3) hIfEU T (4) U R I

FA-T1 -9 fag I8 9 <@ R fagaaras e Afgenedl & Safted &1 yg@ iR
reHifHeR HIROT ¢ TR EHl hl o T8 Al T I 7ol HRI §

(1) wiepfas e (2) SERART TR
(3) fqanel ARiER (4) THSETRE ARER

frefafed 5 @ foraa siferet o Famsitentor & fot wecaqul H9ieH o &9 § fan ) §=1 9 9 &
Ffga fra &2

(1) T THHE (2) Tife Sieel
(3) o, e (4) T A
Tl - [ gt - 11§ GAfad it IR g & 99 5T T $e § 98 S0 &1 999 i
et -1 et - 11
(oIE ) (=)
(a) vfHeT W@ () du=A
(b) el e (i) <fora mfgemd
() wafT =A (iii) fofm R ygfi tferr
(d) ST T (iv) Hfeen i o
e
(@ (b) () (d)
1) @) @v) (@) ()
2 @O @ @) (@)
(3) (v) (D) () @)
4) (@) (v) (i) ()

foretferfia & @ - Ffa olen g3 % T 22
(1) Reiwrw a1 g fai gave 31 sfea

(2) FHA UE fenfm™

(3) TSR TR 9 Swet
(4) Aot de swm
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74. In India, the year 2001 was declared as the year of :

(1) Development of Women’s Studies Year
(2) Women and Panchayati Raj Year

(3) Girl Children Education Year

(4) Women's Empowerment Year

75. Of the following Indian Sociologists who lamented that the retarding role and the reactionary
significance of caste as an institution is still very insufficiently realised by students of Indian

economy ?
(1) A.R. Desai (2) D.P. Mukerji
(3) M.N. Srinivas (4) Louis Dumont

-00o0-
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74. 9RG H 99 2001 < forg 99 o w9 ° =ifvq foman on ?
(1) wfeen Teaaa & o o1 ad

(2) wfeen IR g T ad
(3) ifcrehr fram o
(4)

qigeT TRl Iy

75. Trafafea wwmsenfe § 9 fram g@: yewe foman € 5 T deen & ¥ # Sifa st anees ofieer qen
gfafshamaral Hew o1+ ff YR sTefeaareen & SE GNI 9gd &l STIAT &9 9 HHeA T § ?

(1) TR TOE (2) ELd. gl
(3) THTA. HifvarE (4) O <gHl
-00o0-
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